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For each question from 1 to 30, four options are given. “One of them is the cofrect-
answer. Make your choice (1, 2,3.or4). Shade your answer on-the Opfical
Answer Sheet. : B ' '

4. The diagram bel-ow shows a bottle of correction ink.
‘Which part of the bottle will not affect its function?

' =
—
=

n correction ink

tabel ' ' in the bottle

cap with brush
bottle

(1}  botile

(2) label

{3) correction ink
(4) cap with brush

A-1 (83



Which part of the human digestive system contéins the most amount of
digested food when digestion is compieted?

(1)  Mouth
{2) Stomach

" (3) Smallintestine

(4). Largeintestine

Joe fell into a hole. It was dark and thefe was httlefresh Sir. He felt suffocated
and was gasping for air. ‘
Which one of these body systems helped him to take in oxygen for the body?

(1) . Muscular system
{2) SkKeletal system

{3) Respiratory system
(4)"  Circulatory. syster

_ When Joe brought the blades of.a pair of scissors near some stabfes, they were
attracted to the plades.

Which of the following is the most likely explanation for this cbservation?

(1) The blades are sharp.

(2)  The blades have been magnetized.

{3}  The staples have magnetized the blades.

(4)  The blades are made of the same materiat as the staples. -
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When Magnet X was released at a hieight, it swang back and forth between the
positions K and L as shown in the diagram below.

magﬁet

Position K

————— 2om ey
T ]
ey Posiﬁon_ L magnet

i e ™

What caused Magnéet X to swing back and forth between positions K:and L?

)
2}
(3}
{4)

Interaction at position K Interaction at position L.
' Repulsion " Repulsion
Attraction Repulsion
Atiraction - Atlrgction
Repulsion Attraction

Joe puts five ring magnets on a pencil.
The magnets are labelled A, B, C, Dand E.

Which two magnets are attracting each other?

(N
(2)
3
(4) .

Aand B
Band C
Dand E

Aand B~

2y



7. Joe had these substances in hfs kitchen.

Substance ' Colour
chocolate ‘ ‘ - brown
" icing sugar ‘ _ white
flour o - while
curry - yellow
coffee N Lbrowm

He used colour to sort these substances into groups.
Each group was of a different colour.
How many groups were there?

(1) TFwo--
() Three
(3) Four

(4y Five

8. . Which of the following need(s)to be preseﬂ_t_ for bread to tuyn mouldy? -

mouid

A_ air
B. light

. C. food
D. water

(1) A,BandC only
(2) B,CandDonly
(3y A, CandDonly
(4 A, BandDonly
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9.

10.

Look at the pictures below. The goldfish and the dolptiin'belong to different
groups of animals.

Goldfish o . -Dolphin-
Which of the following chéracte_risﬁdé are different ina goldfishf-ahd a dolphin?
A. body covesing . -
B. the way they move

C. method of reproduction

(1) AandBonly

2y AandConly

(3) BandConly
(4 A BandC

Some of the inalerials we use today come from plants and animals.
Which of the following correctly shows where the materials come from?

From plants From animals
(1) wood. - 1l ‘plastic
(2) , clay . fur
3) sitk feather
(4) cotton , leather
A-5
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12.

The table below shows the arrangemenf of materials, W, X, Y and Z, in order of
increasing weight and strength.

In increasing order

Y

3 Z x
i ] W .

weight (ightest) Y {(heaviest)
X - Y

strength . (weakest) W Z (strongest)

The frame of a racing bicycle needs. to be both strong and lightweight.
Based on the table, which material would be most suifable for making the
frames of racing bicycles?

(1)

(2)
(3

4

frame .

N XX g

Study the two groups of objecls shown below.

Group X

tyre, eraser, rubber band

Group Y

nail, window grille, 10-cent coin

Which of the following objects would you put in Group Y7

(1)
2)
{3)
{4)

A. gold bracelet
B. rubber hose

C. balloon
D. key

A only
B only

B and C only
Aand D only




13." Joe rmade a modei of the digestive system as shown below. !

- furinei
tube

plaéﬁc bag

- chip

plastic hose

rubber _hQs,E-:'

Which of the following shiows the correct matching of the parts of the model to
the parts of the digestive system?

(1)
2
(3)

{4)

Parts
Funnel Fube | Plastic bag ?Iashc Rubber Chp
» T hose hose
. | lage small .
i L oL o nac AU
gullet mouth | intestine intestine. stomach anus
nal ' i i
gullet mouth . sma‘__[ . stomach . smz{f anus
intestine intestine
large simall
h | ;
mout gu.i et stomach intestine intestine anus
motth gullet- stornach . sma_ll . Iargfa anus
intestine | _intestine
A7
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15.

The graph below shows the amount of undigested food as it passes through ' 3
some parts of the human digestive system.

Amount of 4
undigested
food

Jr s n st m .-
LR R Y VRN Y

SR TR AR

3
.
: o

‘Part A Pa’t B PartC- PaﬂE)

Which part of the graph represenis the stomach?

(1) PartA
(2) PartB
(3} PartC
(4) PartD

Which of the following describés what happens to the food in the mouth?

. A..Food is chewed into small pieces..
B. Food is mixed with saliva and partially digested.
C. Fouod is sofiened to make swallowing easier.
D. Food is absorbéd into the body.

(1) AandBonly

{2) CandDonly

(3) A,BandConly
4 A B CandD
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16. Joe has three magnets. The diagranis below show how one of the 'magneis
interacis with the other two magnets.

y |5 b 15

x N a [
[ !

w [N z |3
z s W N

.Y is the South pole.

What are poles Q and W if the three magnets intéract with one anotheras
shown in the above diagrams?

Q w
{1) South South.
(2) South North
3 North : North
4) North South - ]




7

-our simflar nails are made info electromagnets as shown below.
Which nail will attract the greatest number, of paper clips?

17.

Q)

@ o -
A mx\x\mﬁ&‘ﬂ&:}l‘%&.

®)

(4
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18.  Different parts of 2 magnet were labelled V, W, X, Y and Z.

' The bar magnet was then dipped into a container of pins. The number of pins
attracted fo the various parts of the magnet was recorded in a téble as shown

below.
Part of thié magnet __| Number of pins on the bar magnet |\
7 j z ; .
w B8
X a5
~5 3
_Z 15

Which two letters represent the p'ole_s of the bar magnhet?

1) VandW
{2) WandX
{(3)  XandZ
(4 VandyY

19. Thegraph below shows the number of millipedes in a garden for a period of
- four months. '

Number of millipedes -

i

' - Month
Jan Feb Mar Apr

What is the characteristic of living things shown by the graph above?

(1) Living things die.

(2)  Living things move.

(3) Living things grow.

(4) Living things reproduce.

A-11
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20.

21.

Joe prepared 2 set-ups, A and B, as__‘;shown in the diagrams below.

, hole
_plastic fim plastic; filrh
grasshopper grass'l%ébper :
leaf leaf

Setiup A

What was Jo trying to find out?

He was trying to find out if the grasshopperwould .~ i

{1) need airto:survive "
{2) need leaves for shelter’
(3) feedonleaves:

{4) reproduce

The diagram below shows how animais can be grouped according to their body
coverings.

Body coverings
- — |
A B C D
crab bear h_([:-n crocodile
snail sheep ostrich fish

Which one of the following animals can be grouped under C?

{1) Snake
{2) Prawn
3y Platypus

(4) Penguin

A2




23.

Joe coriducted.an experiment to find cut the hardness of feur different materials

P,Q,RandS. L

He used the sharp ends of a plastic rod and a wooden rod fo scratch ach.of
these materials. He recorded his observations in the table below.

Rod used to - Scratch marks observed on material

scratch material . = Q R S
Plastic = - | No Yes “No "No
Wood 1 No | Yes - No | Yes

‘Which one of the following statemenis is true?

(1) Rand'S.aré harder than wood.

(2) QandS are harder.than wood.”
(3) P ahd R are harder than plastic.
(4)  P.and Q are harder than plastic.

Joe wanied to tes_‘t whether some objects would float or sink in water: He did
this by putting eight different objects.into a bucket, of water.

The table below shows his results.

‘Material . Result

Object W X Y float - | sink
Button : v ’ v
Toy car v . Y
Pencil 4 v
Spoon 1 1 4 ' v
Bead _ v v '
Ruler v v
Paper clip- v ' : v
Toy block v - : v

Joe's results suggest that object will float if they are made from

() WorX
2y WoryY
{3y XorY

4 WorXorY

A-13
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24.  Astipof m_aterial A and material B were each hung on a hook as shown below.

material A - material B

Two boxes of the same weight were then hiing. ohto the strips. The resulls are
sho‘\_nm below.

[ ’—“'_“ material A ~ material B

N

TP R TIITIF A7 TS IR ITTT T T

What can you infer from the results?

(1)  Material A is lighter than. material B,

(2)  Material A is stronger than material B.
(3) " Materal B is less flexible than material A.
{4} MaterialBis softer than material A.

A-14




25.°

26.

Study the pictures below.

Based on your-observation, how can you conclude that they are insecis?

(1

@ .
(3)

4

A: They have wings::

B: They have feelers.

C: They have six legs.

D: They have three body parts. .

A, Band C only
A, Band D only
A, C and D only
B, C and D only

Darrel conducted an.experiment-on 5 materials which had the same shape and
size. His results were shown below.

Material Results

A it broke into pieces after 1 hit

B It did not break at afi

C It broke into pieces afler 10 hits

D There were many'scratch marks on ii
E 't There was no scratch mark on it at all

RBased on the resulis in ihe table, which one of the following. describes the
materials correctly?

(1)
2)
(3
4)

Material A is stronger than Material C.

Material B is stronger than Material A and C.
Material D is hard enough to scratch Material E.
Material C is more flexible than Material Aand B

A-15
Y



27.  Joe carried out an experiment with 4 similar slices of fresh bread A, B, C and D.
He added different amounts of water on each slice.of bread and placed them on
his dining table. The observations are recorded in the table below.

Bread slice | Amountof Waigr added f Nu m ber of days needeg-;l.'for the
_ "~ . {inteaspoons} _|:. bréad mould to form in the bread
A R
B 2 - L
C 6 o '
D - 10

How many days are needed for the bread mould to form on the bread when 6
teaspoons of water are added to the bread?

(M 2
2 s
(3) 10
(4) 12

28.  Which pari(s}) of the reftigerator has/have magnets?

N B only

(2) B only
{3) AandB only
(4) CandDoniy




.29

30.

_ strength?

Which part(s) of the U-shape magn8t has/have the strongest magnetic

{1} Aonly
() Eonly
{3} AandD only
(4} BandConly

When: two bar magnets, A and B, were bfought near each other, as shown.
below, they attract each other.

Magnet A Magnet B

If “S" is the S-pole of Magnet A, what are the unknown poles X and Y?

X - Y
{1) S-pole . N-pole
{2) N-pole | ‘N-pole
(3) N-pole S-pole
(4) S-pole S-pole
END OF BOOKLET A

GO ONTO BOOKLETB
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31. The diégrérﬁ 'bel'ow shows Joe's digestive system.

(a) Put a tick (v} in the boxes where digestion of food takes place.

L

B-1

Marks :

(1l

/1




(b} - Joe eails an apple. How do the teeth in his mouth make the-digestion of
thie apple’easier? ¥4}

‘32, The diagranm-below shows a pencil case.

Zip

{a)  What are the parls of the pencii case that make it a system? [1}
(b) Whyis the pencil case classified as a system? [2]
Marks :{ - /5

B-2
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33.  Set-up Xshows a pencil held up by two magnets, one in the stand and the other
in the pencil. .
Joe puts another magnet, Q, between the two magnets as shown in Setup Y.

‘magnét in-

stand
" magret in
.. .-.pencil
. pencil
stand stand & ; -.;E .
Set-up X Set-up Y
@ 0 Label the North-seeking pole (N) and the South-seeking pole (S).
of the magneils on the dotted lines in the Set-up X and Y. 21
{i) What metal could 'Q’ be made of? [t}
{b) Joe repealed the acllvity using a plece of wood instead of the

Magnet Q. The pencil dropped. Give a reason for this. )]

13

Marks : ’ 14 ’
)



34. Joe made wo electromagnets. :

He used paper clips to test the strength of each e!ectromagnet He observed
the following result as shown below

coil fron . coil sleel

(@)  What can Joe conclude aboutthe stidngth:of both sleciroifiagiets based
oh his observation? Explain your answer. i2]

(b)  Joe wanted to magnetise an iron nail XY, as shown below.

Give a reason why the iron nail XY cannot be magnetized by Joe's:
method. (1]

Marks : 13
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35. Joe conducted an experiment using the set-up as shown below.

~ fray

"éa'rthwom,l

tray
earthworm

moist filter paper

(a) What would Joe observe about the earthworm after some time? {1}

(b)  Living thiligs move by themselves. State another characteristic of living
things that this experiment shows. [1]

(c) Joe replaced the earthworm with a rubber band. When he shone light on
the rubber band, what would he observe about the rubber band? Explain
your answer. 11

e ——

Marks : i3 }

B-5 125




36.

The diagram shows a mushroom.

(@

(b}

(o)

What is the part maiked X calied?

s
When ihe cap of the mushroom is tapped a few times, a dust-fike
substance s released. What is this dustdike substance? f14)

- Whatis the function of this dust-like substance to the mushroom?  [1]

Marks : 12

B-6




37.

Jane and Mary collected the leaves shown above and classified them inte 2
groups. . ‘ '

Jane’s Classification:
Group 1. . Group 2

A B ¢ | | "D E _F

Mary’s Classification; -

Group 1 , Group 2
A E F B C D
How did Jane and Mary classify the leaves? 2]

(@) Jane classified them dccording fo

(b}  Mary classified-them according to.

(¢)  Label the leaf below using the following words: f2i

-leaf blade main vein stalk

/4

B-7 12}



38.

" Materials:

Shiny

l

Not 'S'hiny |

Hard " Soft Hard Soft
- S . — |
A oy = 9. sqdra 1512
® ') o b =3 @ pag 7] =
= A I 3 ER N 2 |2
= o Sl D —~ B n,
& = 3 = o 5
— o w @
S| & | | 3
A i C .
Study the classification diagram.above.
The lelters, A to F, represent different types of materials.
(a)  Describe the material represented by the letter C. (1
{b)  White down'two differences between materials B and D. [2]
Marks : 13
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39:

(@

)

John tried to separate a pile of objects with a magnet. The pile of objects
consists of iron filings, sand, glass marbles, steelneedles and scraps of
paper.

Which of the objécts would he be able to separate fiom the pile? [1]

Two bars, P and Q, are suspended such that they ean turn freely.  They
come torest on their own as shown below: '

 —— i : T .

BarP BarQ

Bar P always comes torestina fixed direction ' but Bar Q comes to rest in
different directions.

What does this teli you about the property of Bars P and Q7 Explain your
answer. . [2}

Marks : /13
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40. Peg'gy used one end of a ‘magic. wand’ X1o push atoy chest to a comner-without
. -+ ..touching it by putting end X near the front of the chest. Then she usied the other
- - end, Y, of the, magic wand to attract the chest back to the original position.

@ Whatwas the ‘magic wand and the front of the toy chestmade of? 1]

®) Explain why the magic wand cotld push the chest without touching it. [2]

Marks : / 3J

B-10




41,  The animals shown below belong to the same group.

- Animat. G

(a) Which-groUp' do these animals belong to? [1]

(b}  The platypus belongs to a different Qrouﬁ of animals. It has a different
characteristic as the animals shoewn above. State this characteristic. {1}

{c} Tom cléssiﬁed the animals, A, B and C Into 2 groups as shown below.

Wirite suilable headings for each of the groups. M
ANIMALS i
A B
C

Marks : /3

B-11 e



42. Atoy car, made of steel, was reieased ‘at A of awooden ramp. 'lhe i;me taken
for it to move from A toBwas taken., - . =

. The same experiment was then_repga:it_{ed i_!f;vith object X placed under the ramp.

The set-ups for both experiments are as shown below.

Expetiment 2

-The fable veiow givés the time taken for the toy car to travel from A to B.

Time {seconds) taken
. . for toy car to move from Ato B
Experiment 1 ' 16

Experiment 2 | 12
(a)  Based on the information above, what was object X likely to be? [11

(b} Give a reason for ihc; difference in the time taken for the toy car to travel
from A to B in the two experimients. 2]

Marks : /3 }
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43. There are 3 pieces of fabric X, Y and Z. .
Tim puts a dry table cloth below them. He pours 5 mi of water slowly onto each
fabric and records his Observations in the table below.

Fabric Bees Observanon
X Water seeps through itand the table. cioih under it
: becomes wel.
Y The fabric soaks tp the water but 1he tabie cfoth under
itis dry. _
7 Water collects on top of the fabric-and the table cleth
under it remains dy.

{a) " Based on the observations made by Tim, which fabnc is the most

absorbent?. (1]

/ - ' camping tent

Which fabric should Joe use for the camping tent? Give an explanation
(b} foryour answer. i2i

23
~Se

izl N
/" Have you \\‘
checked

Marks : /3

~ END OF PAPER ~
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31a)

31b) The apple is chewed into smaller pieces so that it can be easily
swallowed.

323) The zip and case. _
32b)The zip and case work together to allow stationery to be kept in it.

33at)

1’E



33aii) 'Q’ could be made of iron or steel.

33b) Wood is 2a non-magnetic material and a magnet can only attract
magnetic materias.

Page 1

34a) He can conclude that the strength of both electromagnets are the same.
Both electromagnets attract the same number of paperclips.

34b) Joe has to stroke the iron nail using only one pole of the magnet
stroking it in the same direction.

35a) The earthworm moved to A.

35b)It responds to changes around it.

35c¢) The rubber band will just stay still. A rubber band is a non-living thing
and non-living things cannot respond to changes or move by themselves.

36a) Gills
36b) It is spores.
36c) The function is to help them reproduce to continue their own kind.

37a) shape
37b) their edges
37¢)

38a) It is shiny, soft, and not heavy.
38b) Material B is soft while material D is hard. Material B is shiny while
material D is not shiny.

39a) He would be able to separate the iron filings and the steel needies from
the pile.

39b) Bar P has a magnetic force while Bar Q does not. Bar P always comes to
a rest at a fixed direction while Bar Q comes to rest in different directions.

40a) They are magnets.
EXAM PAPER 2012 : '
SCHOOL : MAHA BODHI SCHOOL




SUBJECT: PRIMARY 3 - SCIENCE
TERM : SA2

40b) The end X of the magic wand and front of the chest are like poles of
magnet. When the like poles were facing each other, they repefled.

41a) Birds
41b) The platypus has hair as its outer covering.
41C) ANIMALS
_ |
i |
Can fly Cannot fly
B
A C
Page 2

42a) It is a magnet.
42b) The steel toy car was attracted by object X and therefore it moved down

within a shorter period of time.
43a) FabricY

43b) Fabric Z. It is waterproof so the inside of the tent will not get wet when
it rains.
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